Math 251: Quiz 5 October 6, 2020

Name: SOQM.)(;\OV\S

There are 20 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.
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1. [10 points] For each function below, find its derivative. [You do not need to simplify your answer|

a. f(x) =2cos(x) —sec(x)
&‘@\ = (a el - QSecx\' = - (-SwY) - Seex vamy =
= - L Sy - Seex kom

b. r== (sin(rH))

[\ ION}

¢ (6\= % 3(%,&“@\\9“ . Qﬂgtﬂ@\‘-ﬁ = %ﬁ- (GKV\(TG\\&O(K@_Q)

c. y=tan (3x* +2)
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2. [6 points] The displacement of a particle on a vibrating string is given by the equation
s = 800s(7rt+ 7r>
= 1)
where ¢ is measured in seconds and s is measured in centimeters.
a. Calculate the velocity and acceleration of the particle at any time ¢.
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b. Using the results from part (a), determine the position, velocity and acceleration of the par-
ticle at t = 1 second including units.
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3. [4 points] Find the equation of the tangent line to the curve y = at the point (0, 1).
q g V= ih p (/’ l‘)
TL equokion:
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